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RATIO & PROPORTION 
 

TNPSC GROUP I, II & IIA PRELIM 

CLEAR, TRANSPARENT, INDIVIDUALIZE ORIENTATION 

MENTAL ABILITY – COURSE CONTENT 
 

GROUP II / IIA = 25 QUESTIONS 

 
UNIT-X: APTITUDE AND MENTAL ABILITY 

i. Simplification – Percentage - Highest Common Factor (HCF) - 
Lowest Common Multiple (LCM).  
 

ii. Ratio and Proportion. 
 

iii. Simple interest - Compound interest - Area - Volume – Time and 
Work. 

 
iv. Logical Reasoning - Puzzles - Dice - Visual Reasoning – Alpha 

numeric Reasoning – Number Series. 
 
myF X – jpwdwpTk; kdf;fzf;F Ez;zwpTk;  

i. RUf;Fjy; kPg;ngW nghJf; fhuzp (HCF) – tpOf;fhL – kPr;rpW 
nghJ klq;F (LCM) 
 

ii. tpfpjk; kw;Wk; tpfpjhrhuk; 
 

iii. jdptl;b> $l;Ltl;b – gug;G – nfhs;ssT – fhyk; kw;Wk; Ntiy 
 

iv. jUf;ff; fhuztpay; - Gjph;fs; - gfil – fhl;rpf; fhuztpay; - 
vz; vOj;Jf; fhuztpay; - vz; thpir 
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TNPSC ORIGINAL QUESTION 

RATIO & PROPORTION 
 

1. The present ages of Arun and Suresh are 24 years and 36 years 
respectively. What was the ratio between the ages of Suresh and 
Arun, 8 years ago?  
a. 4 : 7   b. 6 : 5   c. 7 : 4  
d. 3 : 2    e. Answer not known  
mUz; kw;Wk; RNu~; jw;Nghija taJfs; KiwNa 24 tUlq;fs; 
kw;Wk; 36 tUlq;fs; vdpy; 8 Mz;LfSf;F Kd;G RNu~; kw;Wk; 
mUz; taJfspd; tpfpjk; vd;dthf ,Ue;jpUf;Fk;?  
a. 4 : 7 b. 6 : 5 c. 7 : 4 d. 3 : 2 e. tpil njhpatpy;iy  
     GROUP I PRELIMINARY EXAM 03.01.2021 

   
2. 210 men working 12 hours a day can finish a job in 18 days. How 

many men are required to finish the job in 20 days working 14 hours 
a day?  
a. 156 men   b. 162 men  c. 168 men   d. 172 men  
e. Answer not known  
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU 
Ntiyia 18 ehl;fspy; Kbg;gh;. mNj Ntiyia ehnshd;Wf;F 14 
kzp Neuk; Ntiy nra;J 20 ehl;fspy; Kbf;f vj;jid Mz;fs; 
Njit?  
a. 156 Mz;Lfs;  b. 162 Mz;fs;   c. 168 Mz;Lfs;  
d. 172 Mz;fs;   e. tpil njhpatpy;iy  

      GROUP I PRELIMINARY EXAM 03.01.2021 
 

3. If 5 persons complete 5 projects in 5 days then 50 persons complete 
50 projects in _________ days.  
a. 5 days   b. 10 days   c. 50 days  d. 55 days  
e. Answer not known  
5 egh;fs; 5 Ntiyia 5 ehl;fspy; nra;J Kbg;gh;. vdpy;> 50 egh;fs; 
50 Ntiyfis _______ ehl;fspy; nra;J Kbg;gh;.  
a. 5 ehl;fs;   b. 10 ehl;fs;   c. 50 ehl;fs;  
d. 55 ehl;fs;   e. tpil njhpatpy;iy  

      GROUP I PRELIMINARY EXAM 03.01.2021 

 
4. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit 

goes to charity and A’s share is ` 855, then the total profit is 
a. ` 1,425  b. ` 1,576  c. ` 1,500  d. ` 1,537.50 
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e. Answer not known 
A kw;Wk; B ,Uth; xU njhopy; njhlq;f 3 : 2 vd;w tpfpjj;jpy; KjyPL 
nra;Js;sdh;. nkhj;j ,yhgj;jpy; 5% njhz;L epWtdj;jpw;F 
toq;fg;gLfpwJ. kw;Wk; A d; gq;F ` 855 vdpy; nkhj;j ,yhgk; vd;d? 
a. ` 1,425  b. ` 1,576  c. ` 1,500  d. ` 1,537.50 
e. tpil njhpatpy;iy 

    ASSISTANT AGRICULTURAL OFFICER (17.04.2021) 

 

5. If 
5 8

yx
  then (x + 5):(y + 8) is equal to 

a. 3 : 5  b. 13 : 8  c. 8 : 5  d. 5 : 8 
e. Answer not known 

5 8

yx


 
vdpy; (x + 5):(y + 8) f;F rkkhdJ. 

a. 3 : 5 b. 13 : 8 c. 8 : 5 d. 5 : 8  e. tpil njhpatpy;iy 
   ASSISTANT AGRICULTURAL OFFICER (17.04.2021) 

 
6. Two numbers are in the ratio 5 : 7. If the sum of these numbers is 108, 

then the larger of these two numbers is 
a. 63   b. 49   c. 35   d. 42 
e. Answer not known 
,U vz;fspd; tpfpjk; 5 : 7 mt;ntz;fspd; $Ljy; 108 vdpy; mt;tpU 
vz;fspy; nghpa vz; 
a. 63  b. 49  c. 35  d. 42  e. tpil njhpatpy;iy  

    ASSISTANT AGRICULTURAL OFFICER (17.04.2021) 

 
7. A student can type 21page in 15 minutes. At the same rate, how long 

will it take the student to type 84 pages? 
a. 60 minutes   b. 50 minutes    c. 70 minutes   
d. 45 minutes   e. Answer not known 
xU khztdhy; 15 epkplq;fspy; 21 gf;fq;fisj; jl;lr;R nra;a KbAk;. 
,Nj Ntfj;jpy;> me;j khztDf;F 84 gf;fq;fs; jl;lr;R nra;a 
vt;tsT Neuk; MFk;?  
a. 60 epkplq;fs;  b. 50 epkplq;fs;  c. 70 epkplq;fs;  
d. 45 epkplq;fs;  e. tpil njhpatpy;iy  

    AGRICULTURE & HORTICULTURE (18.04.2021) 

 

8. If 
3 4

,
5 7

a b

b c
   then a: b: c is  

a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 
e. Answer not known 
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3 4
,

5 7

a b

b c
 

 
vdpy; a: b: c   vd;gJ  

a. 12: 20: 21  b. 12: 20: 35  c. 15: 28: 35  d. 28: 20: 12 
e.  tpil njhpatpy;iy  

   AGRICULTURE & HORTICULTURE (18.04.2021) 


